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2IT302: Computer S-vstem Organization

. Time:3 t lo.ursl

Instrirctions:'
I l. AtternPt all questions'

2. Figures to the right indicate full marks'

' 3 .Ea -chsec t i onshou ldbewr i t t en inasepara teanswerbook '

SECTION-I

Q-r' 4. Conveft the base of tbllowing nunrbers. Also show the process of conversion' t6l

I .  ({23.45)ro: ( -_----- -)t
2. (FA32B.A2)16 : ( -------Js
3 ,  (10100100 .101  I  ) '  =  (  . -  ) ro

Expres's following functions in product of maxterm forrn'

l .  F(A,B.C) :41B+C')
2.  F(X,Y- .L) :  XY r -X '

cronverr rhe fbllowin* n*,oo* base. Aiso ,?l" rn- process of conversi'n'

1"  . (10589.251ic :  (  - - - -  ) ,

2. (123455.1A)8 : ( ---__- )ro

3 .  1 l l 0 r ) i 0 l , 0 l 0 i ) ,  =  ( . - - - - - J8

Express follolving funr:tions in srlm of trlinterm form'

1. .F'(A,I3,C) -= (A]-BXA',+C)
. .2. I i(X,Y,Z): XY -r XZ',

what-is importance i,.f par.it,v bit ir, communication'? l)esign ocid parit-v ge nerator circuit I5l

firr 3 bit,binary message.

What is binarl' parallel adcler? Draw the circuit ciiagrartr oi4-bit binary parallel adder' i6l

oR-

B.

t .  { i i r , :e I 'e f lectcci  c i ;de o1'10110"

2. Wrire ?' ,  iotrpirr t ine l i1 crf  l00L)0'

3. Wri lc e: 'cess i  ct .rde o1 i0i i i

i ] .  l ' ,4 i t r i r l ize ihr:  [ i t , - ' l rat l  i i . rnci i*r l  f '  ( / ' . i3 'L ' f i )

Lis in g K- nlaP ni i : t" i iod.

I 'total Marlis: 7{}

t3l

l r l

I5l

i{, I
4" Wt" i te complement of (A-rB' i i ) '

5. \.!r"iie ii 'uai of X-t-O : X'

i,.. i l i i.e i ':. ci-..,ttrpii-llrte nt oi' i 0iii i i

- ) i t 0 ,  ) - , , i " 6 . 1 j "  i i j ,  i 2 - i 4 )  i c i i l ' 5 , 1 3 , 9 )  i 6 l

16l

t6l

{61

Q.l

IJ ,

.Q -2  A .

r \ ' }  A
\a t - ,  i l .

t<

i l '

()-"-1 A.

B.

!)esign Octal to Fina.r-'r encoder circilit '

Drarv the circuit clirgram icr functioti F{A"B,C,ll) ='A'LlC r- AD + A(}l+ClD)'

in-lplement fll l

iJo iis cliLtcicd

aei<ier circuit r"rsing suitiible decoder and basic gates'
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SECTION.TI

.

Design a counter that cbunts 00 to l l using D flip-flop'

giinplify,frg,qtiol I,{Y,,},Y,4:I(0,4,5,6,10,12,14,15) 
using tabular method'

'  ' :  . . . '  ;  ,  :  oRi .  . . 1  ' : .  . :  i .  .  i  .  v ^ \

Inipierntnt and explain'master slave flip-flop in detail'

Design a cirquit for following function using multiplexer'

l6t
t6l

l6l
I6I

{}-{

F{X;Y,Z) :|:0,2,4,7) '

n *€i',o.l l;iurion C202 contains 43 data. Write an ALP to convert this data to 34' t5l

Store the modified number to location D250'

Load the'.acbutnulalor bY
AOO ttreie two numbers.-:
store 02 to register D.

OR

A +rrcurorv.lobation D255 contains DA clata. Mask the bits D0. D1' D2 and D5 0f the

given'data and store result to memory location C26l'
: '  '  r - ^+^-^.1 '+ maff^n/ t CZ50- If result of
Subtrabt two number stored at memory locations C201 anC

,"utr".ti"" li.r"ro tlten store 0l to register H othenvise store 02 to register I{'

+.6 A. Answer the followings.

Q-5 z\..

B.

l. How many memory locations can be addressed using 10 bits?

2.' How many bits require to access 2048 memory locations?

q. Write hvo 3-bytes instructions of 8085 '

4. what is the size cf rJata bus and adclress bus of 8085 microprocessor?

65 and get another number from memory location C300' 16l

If carry is generated then store 01 to register D otherwise

modes (Direul ur ltrclirecl or ltnmcdiate) for follorving 8085

3. LDAXB
,4. IVIVI A,33

tsl

t6l

t8l

lcientiry- addressing'
. instrrrcl ions. ' ' .

t :  SUn n
2 ' .  LDA2300'

l4l
B.

!

:
a
:

r]ND O}'PAPIIR
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